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Typography

The theme provides sensible defaults to
\emph{emphasize} text, \alert{accent} parts
or show \textbf{bold} results.

becomes

The theme provides sensible defaults to emphasize text,
results.

parts or show bold
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Font feature test

e Regular

e [talic

e SMALL CAPS

e Bold

e Bold Italic

e Bold Small Caps

e Monospace

e Monospace Italic

e Monospace Bold

e Monospace Bold Italic
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Lists

ltems
o Milk
e Eggs

e Potatoes

Enumerations
1. First,

2. Second and
3. Last.

Descriptions
PowerPoint Meeh.

Beamer Yeeeha.
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Tables

Table 1: Largest cities in the world (source: Wikipedia)

City Population

Mexico City 20,116,842
Shanghai 19,210,000
Peking 15,796,450
Istanbul 14,160,467




Blocks

Three different block environments are pre-defined and may be styled with an optional
background color.

Default Default
Block content. Block content.
Block content. Block content.
Example Example
Block content. Block content.
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Line plots
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Backup slides

Sometimes, it is useful to add slides at the end of your presentation to refer to during
audience questions.

The best way to do this is to include the appendixnumberbeamer package in your
preamble and call \appendix before your backup slides.

The theme will automatically turn off slide numbering and progress bars for slides in the
appendix.
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